WOOD BLOCKING
CONNECTION DETAIL

FLASHING AS REQUIRED _/

— BY OTHERS.

S.S. SCREWS @ 16" O.C.
PRE-DRILL OVERSIZED HOLES
— BY OTHERS.

ATTACHMENT BLOCKING/FRAMING
— BY OTHERS.

NOTE: DEEPER CORNICE "..7‘0.'"7‘.:.' g
PROFILES MAY REQUIRE ‘% 4
ADDITIONAL SUPPORT 3
FRAMING % a
D ”
7 a4
a
|
I la
4
<
| A
<
A
| a
| <
FIBERGLASS CORNICE | 2 y
a
ATTACHMENT BLOCKING/FRAMING 4
— BY OTHERS. o <
a

S.S. SCREWS @ 16" O.C.
PRE-DRILL OVERSIZED HOLES
— BY OTHERS.

PROVIDE COLOR MATCHED Low
MODULUS SEALANT. (ULTRA-LOW
MODULUS SEALANT, SIMILAR TO
SIKASIL WS—290 FPS) — BY
OTHERS.

-/

CORNICE CONNECTIONS
SHEET NO.

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—-8150
www.fiberglass—afi.com

SD-1

2020




SUPPORT FRAMING
CONNECTION DETAIL

FLASHING AS REQUIRED,
— BY OTHERS. _/

ATTACHMENT BLOCKING/FRAMING.
— BY OTHERS.

S.S. SCREWS @ 16" O.C.
PRE-DRILL OVERSIZED HOLES
— BY OTHERS.

a >

N
A

FIBERGLASS CORNICE

ATTACHMENT BLOCKING/FRAMING 4 4
— BY OTHERS.

S.S. SCREWS @ 16" O.C.
PRE-DRILL OVERSIZED HOLES
— BY OTHERS.

PROVIDE COLOR MATCHED Low
MODULUS SEALANT. (ULTRA-LOW
MODULUS SEALANT, SIMILAR TO
SIKASIL WS—290 FPS) — BY
OTHERS.

_

CORNICE CONNECTIONS

SHEET NO.

SD-2

2020

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—-8150
www.fiberglass—afi.com




TYPICAL CORNICE
WITH GUTTER INSTALLATION

FLASHING AND/OR
ADDITIONAL ROOFING
MATERIAL AS
REQUIRED BY OTHERS

| PRE—MANUFACTURED
GUTTER OR SITE

I BUILT GUTTER BY
<~ V\ OTHERS

ATTACHMENT

BLOCKING /FRAMING
— BY OTHERS.

S.S. SCREWS @ £16”
0.C. PRE-DRILL
OVERSIZED HOLES —
BY OTHERS.

CORNICE INSTALLATION

SHEET NO. WITH GUTTERS

SD-3

2020

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—-8150
www.fiberglass—afi.com




ATTACHMENT FRAMING TO BE
RECESSED OR TRIM FLANGE
AS REQUIRED — BY OTHERS.

APPLY LOW MODULUS
ADHESIVE/SEALANT BETWEEN
CORNICE SECTIONS.

1"+ RETURN
FIANGE

BACKER ROD OR BOND
BREAKER, AVOID THREE
POINT BOND OF
SEALANT TYP.

INSTALLING CONTRACTOR

MAYBE REQUIRED TO GRIND
OR SAND BACKSIDE OF FRP
TO FIT SHIPLAP WHEN UNITS
ARE FIELD CUT TO LENGTH.

D OO0
RIS

4

KX XX XXX XXX XXX AXXXX SRR XXX XXX XXX AKX XXX AKX XX
PROVIDE COLOR MATCHED LOW
MODULUS SEALANT. (ULTRA-LOW

MODULUS SEALANT, SIMILAR TO
SIKASIL WS—290 FPS) — BY

ALLOW MIN. 1/8” (NOT GREATER THAN OTHERS.
3/8") GAP BETWEEN SEGMENTS FOR

EXPANSION AND CONTRACTION 1 1/2" SHIPLAP

TYPICAL SHIPLAP DETAIL

ALL STRUCTURAL STEEL,
FRAMING, BLOCKING, SHIMS,
AND FASTENERS AS REQUIRED

BY INSTALLER. APPLY LOW MODULUS
ADHESIVE/SEALANT BETWEEN
SELF HEALING WATERPROOFING CORNICE "SECTIONS.
AS REQUIRED BY INSTALLER.
BACKER ROD OR BOND . &
BREAKER, AVOID THREE X E
POINT BOND OF N ~
SEALANT TYP. AN " %
K N
z L)
- 5 \
X g \ \)
\_ PROVIDE COLOR MATCHED LOW
., MODULUS SEALANT. (ULTRA—LOW
1/2 MODULUS SEALANT, SIMILAR TO
NOTE: ALL FASTENERS TO BE SIKASIL WS—290 FPS) — BY
STAINLESS STEEL (BY OTHERS) OTHERS.

TYPICAL REVEAL DETAIL (SPECIAL ORDER)

y +1/4” EXPANSION JOINT

BACKER ROD OR BOND
BREAKER, AVOID THREE
POINT BOND OF
SEALANT TYP.

—_—

OO

¢

Y

NC

L
RO X

X

RXXXKKKK KKK KKKRKKRKKX

PROVIDE COLOR MATCHED LOW
MODULUS SEALANT. (ULTRA-LOW
MODULUS SFALANT, SIMILAR TO
SIKASIL WS—290 FPS) — BY
OTHERS.

TYPICAL BUTT JOINT DETAIL

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—-8150
www.fiberglass—afi.com

CORNICE ¥ TvpICAL
STEET NG JOINT DETAILS

SD-4

2020




TYPICAL INSTALLATION FOR CORNICE WITH SHIP LAP JOINTS

1. ATTACH BLOCKING/FRAMING
TO STRUCTURE. NOTCH
BLOCKING 2" x 1/2” MIN TO
ALLOW CLEARANCE FOR
FLANGE, OR USE INTERMITTENT
BLOCKING.

NOTE: BLOCKING/FRAMING CAN
BE CONSTRUCTED FROM WOOD,
LIGHT GAUGE FRAMING,
STRUCTURAL STEEL, OR
MASONRY BACKUP

3. APPLY ADHESIVE/SEALANT TO
FLANGE. SEE DETAILS TO RIGHT.

4. USE TEMPORARY BLOCKING
SCREWED INTO FLANGE TO ALIGN
FACE OF CORNICE SEGMENTS
WHILE ADHESIVE /SEALANT CURES.
SEE DETAILS TO RIGHT.

PRE-DRILL OVERSIZED HOLES.

NOTE: SCUFF AND CLEAN ALL
SURFACES WHERE ADHESIVE
AND/OR SEALANTS ARE TO
BE APPLIED.

ALL FASTENERS, ADHESIVE AND
SEALANTS BY OTHERS UNLESS
OTHERWISE NOTED.

2. SCREW CORNICE TO BLOCKING
AND/OR STRUCTURE @ 16" 0.C.
SEE ATTACHMENT DETAIL). PRE-DRILL
VERSIZED SCREW HOLES TO AVOID
DAMAGING THE FRP AND FOR
THERMAL MOVEMENT.

FILL WITH SEALANT TO MATCH.

SHIP LAP FLANGE.
SEE DETAILS BELOW.

NOTCH IN BLOCKING FOR
FLANGE CLEARANCE.

A. APPLY LOW MODULUS
ADHESIVE/SEALANT (ULTRA—LOW
MODULUS SEALANT, SIMILAR TO
SIKASIL WS-290) BETWEEN CORNICE
SECTIONS.

ALLOW MIN. 1/8" (NOT GREATER
THAN 3/8%) GAP BETWEEN FRP AND
BLOCKING FOR EXPANSION AND
CONTRACTION SHIM AS REQUIRED

X XK

TRIM FLANGE j&
AS REQUIRED

’

B. USE TEMPORARY BLOCKING SCREWED INTO
FLANGE TO ALIGN FACE OF CORNICE SEGMENTS
WHILE ADHESIVE CURES.

PO T i
SSTIIITT L I

C. FILL THE JOINT WITH COLOR
MATCHED LOW MODULUS SEALANT.
(ULTRA-LOW MODULUS SEALANT,
SIMILAR TO SIKASIL WS—-290 FPS) —
BY OTHERS.

BOND BREAKER, AVOID
THREE POINT BOND OF
SEALANT

\
%Z

CORNICE
SHEET NO.

TYPICAL
INSTALLATION
INSTRUCTIONS

SD-5

2020

A

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE.,

CLEVELAND, OHIO 44127—-1839
(216) 641—-8300 — FAX:(216) 641—-8150
www.fiberglass—afi.com




ATTACH COLUMN AMD CAPITAL
USING 2x2 L—CLIPS AND
SCREWS, BY OTHERS

: — —7
[ COUNTERSINK SCREW AND

FILL TO MATCH SURFACE
— FRP CAPITAL

4 FRP COLUMN

—

ATTACHMENT AT CAPITAL

ATTACH COLUMN HALVES USING
CONSTRUCTION ADHESIVE

REVEAL JOINT (SPECIAL ORDER)

ATTACH COLUMN HALVES USING
CONSTRUCTION ADHESIVE

SHIP LAP JOINT (SPECIAL ORDER)

ATTACH COLUMN HALVES USING
CONSTRUCTION ADHESIVE

BUTT JOINT (STANDARD)

4 FRP COLUMN
‘1 FRP BASE ;

COUNTERSINK SCREW AND
FILL TO MATCH SURFACE

ATTACH COLUMN AND BASE
USING 2x2 L—CLIPS AND
SCREWS, BY OTHERS

2 LOCATIONS MINIMUM | |

ATTACHMENT AT BASE

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com

COLUMNS  } ATTACHMENT
SHEET NO. DETAILS

SD-01

2020




3/8" BOLT W/ WASHER,
NUT AND LOCKWASHER
BY OTHERS

ENCAPSULATED PVC
EMBEDDED IN FLANGES

\— ASSEMBLE 3/8" WASHER,

NUT AND LOCKWASHER
© BY OTHERS

—— 3/4” BOLT W/ WASHER,
NUT AND LOCKWASHER,
BY OTHERS

—— ANGLED W 3
@ By 0 S

ROOF TRUSS
PITCH TO BE VERIFIED
BY CONTRACTOR

AN

2x WOOD BLOCKING
BY OTHERS

DO NOT POSITION UNTIL
CUPOLA HAS BEEN
DELIVERED

ASSEMBLE 3/4” WASHER,
NUT AND LOCKWASHER
BY OTHERS

(I\ATTACHMENT TYPE 1
SCALE: 1-1/2" = 10"

— \SD-J,

CUPOLA BARREL

ASSEMBLE
3/8" BOLTS W/
HEAVY-DUTY WASHER
AND NUT @ 2 PER
o SEGMENT

CUPOLA BASE

ROOF TRUSS
PITCH TO BE VERIFIED
BY CONTRACTOR

ATTACH WOOD
BLOCKING, BY OTHERS,
TO ROOF STRUCTURE,
DO NOT LOCATE UNTIL
CUPOLA IS DELIVERED

COUNTERSUNK
SCREWS, FILL TO
MATCH SURFACE,
BY OTHERS

2\ ATTACHMENT TYPE 2
T\ SCALE: 1-1/2° = 1—-0"

CUPOLAS ATTACHMENT
SHEET NO. DETAILS
2020

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com n




BALUSTER TOP
OF TOP RAIL

BALUSTER BOTTOM
lypeed—— OF 0P RAIL

\ FACTORY ASSEMBLED

WITH STRUCTURAL
ADHESIVE

HEAVY-DUTY WASHER
AND NUT FASTENED
TO THREADED ROD BALUSTER

S '

5/16" THREADED ]
ROD FOR

ATTACHMENT
BY MANUFACTURER ,(%

FACTORY ASSEMBLED
WITH STRUCTURAL BALUSTER TOP

ADHESIVE OF BOTTOM RAIL
\\ SUPPORT BLOCK AS T
o
h

REQUIRED BY OTHERS,
(SYNTHETIC MATERIAL e ~—_ BALUSTER BOTTOM

SUCH AS AZEK OR TREX) OF BOTTOM RAIL
BALUSTRADE INSTALLATION - OPTION 1

C—CHANNEL ATTACHED TO BALUSTER TOP
THREADED ROD AND OF TOP RAIL
ATTACHED TO STRUCTURE

AT ENDS, BY OTHERS.

C—CHANNEL BY
OTHERS
FIELD ASSEMBLED WITH BALUSTER BOTTOM
STRUCTURAL ADHESIVE TO OF TOP RAL
ALLOW FOR C~CHANNEL NOTE: C~CHANNEL COULD
INSTALLATION BY OTHERS ALSO BE ADDED TO BOTTOM
< RAL.  C—CHANNEL MAY BE
\_ REQUIRED FOR RAIL LENGTHS
HEAVY-DUTY WASHER LONGER THEN 12'
AND NUT FASTENED
5 TO THREADED ROD E BALUSTER
%[5 - 5/16" THREADED g
o ROD FOR 4
ATTACHMENT
] BY MANUFACTURER AR
FACTORY ASSEMBLED =lm
WITH STRUCTURAL BALUSTER TOP

ADHESIVE OF BOTTOM RAIL
\\ SUPPORT BLOCK AS T

REQUIRED BY OTHERS, ®
(SYNTHETIC MATERIAL b~ BALUSTER BOTTOM
SUCH AS AZEK OR TREX) OF BOTTOM RAIL

BALUSTRADE INSTALLATION - OPTION 2 (WITH C-CHANNEL)

BALUSTRADES Q§ |INSTALLATION

ARCHITECTURAL FIBERGLASS, INC.

SHEET NO.
SD-01 8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
2020 www.fiberglass—afi.com




WHERE NEWEL POST HAS CAP SEPARATE FROM SHAFT;
APPLY A HIGH QUALITY CONSTRUCTION ADHESIVE
(RECOMMENDED: WELD—ON STRUCTURAL METHACRYLATE
ADHESIVE SS218 SERIES; OR LORD 7545—-F URETHANE
ADHESIVE) TO BOND CAP ATTACH TOP RAIL NEWELL POST

BLOCKING OR ANGLE/CLIPS BY OTHERS
ANGLE, BY OTHERS

KT B 2 RET HEAVY—DUTY WASHER AND
o35 5|55 9 NUT FASTENED TO THREADED
ROD
5/16" THREADED ROD FOR
B g : ATTACHMENT BY
|55 RIES KAk MANUFACTURER
Y Y U
& SUPPORT BLOCKS AS
: : 3 /' REQUIRED BY OTHERS

U
\— ATTACH BOTIOM RAIL TO NEWELL POST STEEL
W\ ANGLE, BY OTHERS. ADD BLOCKING OR
STRUCTURAL MEMBERS INSIDE NEWEL POST AS
NECESSARY AT ATTACHMENT POINTS, BY OTHERS.

SCREW NEWELL POST INTO

BLOCKING (BY OTHERS). NOTE: SIMILAR
STEEL POST OR FRAMING ATTACHMENT FOR RAILS
SYSTEM ANCHORED TO THAT MEET WALLS OR
STRUCTURE (BY OTHERS). COLUMNS.

RAIL INSTALLATION - OPTION 1

BALUSTRADES Q§ |INSTALLATION
SHEET NO.

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com

SD-02

2020




WHERE NEWEL POST HAS CAP SEPARATE FROM SHAFT; APPLY A
HIGH QUALITY CONSTRUCTION ADHESIVE (RECOMMENDED: WELD—ON
STRUCTURAL METHACRYLATE ADHESIVE SS218 SERIES; OR LORD
7545—F URETHANE ADHESIVE) TO BOND CAP ATTACH TOP RAIL
NEWELL POST

USE 3"x3%4" CLIP ANGLE TO BOLT OR WELD
C—CHANNEL TO STRUCTURAL POST, BY OTHERS

FIELD CUT NEWEL POSTS FOR
C—CHANNEL, BY OTHERS

I C—-CHANNEL BY

7 OTHERS
BET 0 OBRET 0 ORNET HEAVY—-DUTY WASHER AND
o35 5|55 9 NUT FASTENED TO THREADED

ROD

5/16" THREADED ROD FOR
% ATTACHMENT BY

s 2' B MANUFACTURER
&3 SRR
S SUPPORT BLOCKS AS
ik : /' REQUIRED BY OTHERS

T /

U
\— ATTACH BOTIOM RAIL TO NEWELL POST STEEL
W\ ANGLE, BY OTHERS. ADD BLOCKING OR
STRUCTURAL MEMBERS INSIDE NEWEL POST AS
NECESSARY AT ATTACHMENT POINTS, BY OTHERS.

SCREW NEWELL POST INTO

BLOCKING (BY OTHERS). NOTE: SIMILAR
STEEL POST OR FRAMING ATTACHMENT FOR RAILS
SYSTEM ANCHORED TO THAT MEET WALLS OR
STRUCTURE (BY OTHERS). COLUMNS.

RAIL INSTALLATION - OPTION 2 (WITH C-CHANNEL)

BALUSTRADES Q§ |INSTALLATION
SHEET NO.

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com

SD-03

2020




WHERE NEWEL POST HAS CAP SEPARATE FROM SHAFT;
APPLY A HIGH QUALITY CONSTRUCTION ADHESIVE
(RECOMMENDED: WELD—ON STRUCTURAL METHACRYLATE
ADHESIVE SS218 SERIES; OR LORD 7545—-F URETHANE
ADHESIVE) TO BOND CAP ATTACH TOP RAIL NEWELL POST

BLOCKING OR ANGLE/CLIPS BY OTHERS
ANGLE, BY OTHERS

KT B 2 RET HEAVY—DUTY WASHER AND
o35 5|55 9 NUT FASTENED TO THREADED
ROD
5/16" THREADED ROD FOR
B g : ATTACHMENT BY
|55 RIES KAk MANUFACTURER
| Y Y U
& SUPPORT BLOCKS AS
: : 3 /' REQUIRED BY OTHERS

/

U

ATTACH BOTIOM RAIL TO NEWELL POST STEEL
W\ ANGLE, BY OTHERS. ADD BLOCKING OR
STRUCTURAL MEMBERS INSIDE NEWEL POST AS
NECESSARY AT ATTACHMENT POINTS, BY OTHERS.

THREADED ROD (BY OTHERS).

NOTE: TYPICALLY ONLY

L
ANCHOR THREADED ROD TO USED WITH SMALLER
STRUCTURE (BY OTHERS). NEWEL POSTS

ALTERNATE NEWEL POST CONNECTION (DECORATIVE / NON-STRUCTURAL)

BALUSTRADES Q§ |INSTALLATION
SHEET NO.

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com

SD-04

2020




/~ 4°0 SPHERE

1.3/4*

’

2

!ﬁ 7/2'L L | 51/2

1 a

OPTION 1-4"SPHERE CODE SPACING

g

NOTE: NOT ALL BALUSTERS
CAN MEET 4°8 SPHERE CODE

2'-1 3/4"

5 1/2" L

SPACING IS _FULLY ADJUSTABLE

OPTION 2 - SPACING NOT 7O CODE

| 6 1/2" | L 6 3/4"
1 1

M

TR

BS-150 BS—-160

BALUSTRADES

INSTALLATION

SHEET NO.

SD-05

2020

ARCHITECTURAL FIBERGLASS, INC.

CLEVELAND, OHIO 44127—-1839
FAX:(216) 641—8150

www.fiberglass—afi.com
o

8300 BESSEMER AVE.,
(216) 641-8300 -




! ! 6 5/16” ,I|, 1L 7 1/2" L LG 7/8” 6

BS-170 BS—-180 BS—-190 BS-200 BS-220

| 6 5/8" | 6 1/2* L | 6 1/8"

6 7/8" | 6 1/2"
I

@2@

| | 7 1/2" | 7 1/8" | 6 1/4" | Ls 5/8" | Ls /4" 7"
1 1 I 1 1 1 1

L£s-290 = BS=300 = BS=310 0000 B=5200 0000 BS=3%0 B£5-340

Ar

-

BALUSTRADES Q§ |INSTALLATION
SHEET NO.

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com

SD-06

2020




5 3/4"

BALUSTRADES Q§ |INSTALLATION
SHEET NO.

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com

SD-07

2020




NOTE:

1. FIBERGLASS PRODUCTS ARE INTENDED TO BE INSTALLED ON FINISHED
WATERTIGHT ROOF STRUCTURES AND ARE GENERALLY NOT OPEN TO THE
BUILDING BELOW. FIBERGLASS PRODUCTS ARE DESIGNED TO SHED WATER BUT
ARE NOT FACTORY INSULATED. FIBERGLASS PRODUCTS THAT ARE NOT
INSULATED COULD CAUSE CONDENSATION INSIDE THE STRUCTURE. DECORATIVE
FEATURES SUCH AS VENTS, LOUVERS, CROSSES, AND FINIALS CAN ALSO
ALLOW MOISTURE TO ENTER THE STRUCTURE. ARCHITECTURAL FIBERGLASS,
INC. (AF]) RECOMMENDS ROOFING OR WATERPROOFING UNDER THE
FIBERGLASS STRUCTURE AND SEALING AROUND ALL ANCHOR BOLTS. FIELD
APPLIED INSULATION AND FLASHING BY CONTRACTOR CAN REDUCE
CONDENSATION AND SEAL THE STRUCTURE AGAINST MOISTURE.

WATERTIGHTNESS IS A FUNCTION OF THE INSTALLATION AND THE SUBSTRATE
TO WHICH THE FIBERGLASS MATERIAL IS BEING ATTACHED. FURNISHED
FIBERGLASS ELEMENTS ARE STRICTLY FOR ORNAMENTAL PURPOSES AND THE
SELLER IS NOT RESPONSIBLE FOR ANY OTHER INTENDED USE. AF1 DOES NOT
WARRANT WATERTIGHT FACTORY—ASSEMBLED OR FIELD—ASSEMBLED JOINTS.
FACTORY-ASSEMBLED JOINTS HAVE THE POTENTIAL TO SEPARATE DURING
SHIPPING AND INSTALLATION. AFl RECOMMENDS FINAL SEALANT APPLICATION
AFTER ELEMENTS ARE INSTALLED, IN ADDITION, A CONTINUOUS RUN AT EACH
JOINT OF EMSEAL UST SEALANT TAPE (ITEM UST—10-50-10;) BY EMSEAL
JOINT SYSTEMS, LTD (WWW.EMSEAL.COM) (1-800-526—8365) OR EQUAL.
REFERENCE TYPICAL DETAIL. IF WATERTIGHTNESS IS REQUIRED, AF1
RECOMMENDS THAT A LICENSED WATERPROOFING CONSULTANT REVIEW THE
DETAILS AND PROVIDES RECOMMENDATIONS AS REQUIRED FOR THIS SPECIFIC
APPLICATION.

2. CONTRACTOR IS RESPONSIBLE FOR ANY ENGINEERING REQUIREMENTS
ASSOCIATED WITH THE STRUCTURE TO WHICH FIBERGLASS ELEMENTS ARE
ATTACHED, AND WIND LOAD FORCES IMPOSED BY THE FIBERGLASS STRUCTURE.

J. LIGHTNING PROTECTION IS NOT INCLUDED UNLESS NOTED ON THE SHOP
DRAWINGS. LIGHTNING PROTECTION IS RECOMMENDED AND CAN BE
INCORPORATED UPON REQUEST. A LICENSED CONTRACTOR WILL NEED TO
FIELD GROUND ANY LIGHTNING PROTECTION PROVIDED WITH THE FIBERGLASS
ELEMENTS.

4. AFl RECOMMENDS ALL 3/8" DIA. THRU BOLTS TO BE STAINLESS STEEL
TYPE 316, UN.O. 1/2°, 5/8", OR 3/4" DIA. (AS INDICATED) THRU BOLTS TO
BE GRADE 5, GALVANIZED, U.N.O., BY OTHERS.

5. APPROVAL OF DRAWING IMPLIES THAT THE CONTRACTOR HAS VERIFIED ALL
FIELD MEASUREMENTS PRIOR TO MANUFACTURE.

SEE DOME DETAIL
_LFOR FLANGE WID

FHALF
FLANGE
WIDTH

- -

EXTERIOR DOME

PVC EMBED IN ATTACHMENT
FLANGES

PROVIDE CONTINUOUS RUN OF
EMSEAL UST SEALANT TAPE
(UST-10-50-10) IN EACH JOINT
AT THE TIME OF INSTALLATION FOR
WEATHER SEAL, BY OTHERS

SEAL JOINT AFTER INSTALLATION,
BY OTHERS

OPTIONAL BLOCKING AS REQUIRED,
BY INSTALLER

FLASHING, BY OTHERS

STEEL PLATE AND/OR STRUCTURAL
FRAMING BY OTHERS

1/2" DIA. BOLT W/ DOUBLE
HEAVY—DUTY WASHERS, NUT AND
LOCKWASHERS, MIN. 2 PER
SECTION, EQUALLY SPACED, BY
OTHERS

TYPICAL DOME ATTACHMENT

3/8°¢ THRU BOLT
@ 6” 0.C. TP,
BY OTHERS

SEALANT, BY OTHERS

CONTINUOUS RUN
EMSEAL UST SEALANT
TAPE, BY OTHERS

R
=S K R R I I I

INSTALLATION,
BY OTHERS

%
£E DOME DETAL

+HALF
FLANGE
WIDTH

SEAL JOINT AFTER —/

OR FLANGE WIDTH

1(5

_—

PROVIDE CONTINUOUS RUN OF
EMSEAL UST SEALANT TAPE
(UST-10-50-10) IN EACH JOINT
AT THE TIME OF INSTALLATION
FOR WEATHER SEAL, BY OTHERS

%
%

TYPICAL EXTERIOR DOME JOINT DETAIL

DOMES

ATTACHMENT
SHEET NO. DETAILS
2020

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com




EXTERIOR DOME

INTERIOR DOME

OPTIONAL PVC BOLT CAP
SEE DOME DETAIL

FOR FLANGE WiDTH PVC EMBED IN ATTACHMENT

@ FLANGES
O /-:'L-LI;\I?/LGF[;' PROVIDE CONTINUOUS RUN OF
@ EMSEAL UST SEALANT TAPE

WIDTH
——|‘ (UST-10-50—10) IN EACH JOINT
AT THE TIME OF INSTALLATION FOR

) WEATHER SEAL, BY OTHERS

SEAL JOINT AFTER INSTALLATION,
BY OTHERS

OPTIONAL BLOCKING AS REQUIRED,
| ,< BY INSTALLER
FLASHING, BY OTHERS

TM& 1/2" DIA. BOLT W/ DOUBLE
STEEL PLATE AND/OR STRUCTURAL HEAVY=DUTY WASHERS, NUT AND

FRAMING BY OTHERS LOCKWASHERS, MIN. 2 PER
SECTION, EQUALLY SPACED, BY
OTHERS

7
V7

TYPICAL DOME ATTACHMENT
WITH INTERIOR AND EXTERIOR DOMES

DOMES ATTACHMENT
SHEET NO. DETAILS

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com

SD-2

2020




	Cornice Details 2020.pdf
	Columns Details - 2020.pdf
	Cupolas Details - 2020.pdf
	Balustrade Details - 2020.pdf
	Domes Details - 2020.pdf

